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Ax
0.693845
06614
118927
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1804658
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seaborn shs
matplotlib.pyplot == plt
pandas a5 pd
Keyrmax
df = pd.read_csw('20210328train.csv')
¥ = dfilec[;, 1:7]
Y = dfilac[;, 7]

rrinti)
print(y)
#IUIEEH 2R EH » JIEEEHBA=IEEIIFEE « AEFERI ARG ESEEDEINERE
sklearn.model_selection train_test_split

w_train,»_testy_trainy_test = train_test_split(<], ¥, test_size=0.2)

sklearn SWIT

v = swim. SWICT
sw. fit{x_train, y_train)
#Fprinti(sv)

HEEESDIT
printisv.score(, ¥))
print(sv.score(_trainy_train))
print{sv.score(_test, y_test])

_-.;E AAEIE=EH :-E._E__ i

dfa = pd.read_csw('20210328test.csv’)

¥a = dfa.iloc[;, 1:7]

#¥a = dfailoc[:, 7]

x_traina,_testa = train_test_split(¥a, test_size=0.9)
preda = (swv. predictix_testa))

print{preda)

printitype(preda))

print{preda.dtype)

#Fprint(y_testa)
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385 import tkinter as tk ¢ rTsEzwEETEl
(: 326 from rabboni import *
global Keymax
382 global result
root = tk.Tk()

8 root title("ATESHEBIEREREE")

AL B3R RA

Lid

321 root.geometry("5@8x588") B H
392 #root.title( MEETEFIFEE")

G: root.configure(bg="#FFFF93" ) W F R
395 result = tk.StringVar()

306  result.set("EHFZEA")

397 AT-SWM

398 labell = tk.Label(root,width=3@,height=3,text="ATESHEFFI", font=("=EE",20),bg="#FFFF93")

392 labell.pack()

48 label2 = tk.Label(root,width=38,height=3,textvariable-result,font=("1ZE8",16),bg="#D3IFF03" ,fg-"#000BAFF") W E ik B B
481 label2.pack()

482 #labe2 = tk.Label(root, text='bbb',bg="green'")

483 | #label.pack WERNBEE
484

485 buttonl = tk.Button(root, text='HEEZHFEE",bg="#FFC3C9",width=38,height=3,font=("=E5E",16), command=start)
486  buttonl.pack()

487 button2 = tk.Button(root, text='AI-SVM',bg="#FFC2C9",width=38,height=3,font=("#EZ7#EE",16), command=5VM)

488 button2.pack()

469 button3 = tk.Button(root, text-='HEREIEEF ¥ ,bg="#FFC0C9",width=38,height=3,font=("E#52",16), command=analysis)
418 button3.pack()

411 buttond = tk.Button(root, text="HEE 145~ ",bg="#FFC2C9",width=38,height=3,font=("Z=E5",16), command=video)

412 button4.pack()

413  root.mainloop()
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def start():

import time, sys

import pandas as pd T 4= %i o
import numpy as np A % o i&g"}i&’ﬁj
import rabboni as rabbo

try: B 5

rabbo = Rabboni(mode = "BLE") #:E==—EFHE
rabbo.scan() #EEAEESFDevice
rabbo.print_device() # FSAF=EFDevice
rabbo.connect("E@:34:CC:EF:22:F5" ) # GiEMAC iSss HoE ok B HHER
rabbo.discover_characteristics( ) #EEAT5F OFEiS
rabbo.print_char()# 8 EEE OIS

except Exception as e: AI-SVM
print({e)

result.set("RabboniEESFiEEscl 1)
print("TI5E#R3EIE Rabboni FAEESFEIEIT 1)
sys.exit( ) #&%ﬁ&&ﬁ@ﬁ%}ﬁ

print ("Status:",rabbo.Status)

i=1292
df=pd.DataFrame({columns={ "Ax", "4y’ , "Az")) i&aﬁ.&ﬁ*%%}ﬂ
try:

rabbo.read_data()

while True:# —E7751E+ EfSEFEA
rabbo.print_data()#print =&/
print (rabbo.data_num)
print(" i=%d " X({i)) 23
new = pd.DataFrame({'Ax":rabbo.Accx, Ay’ :rabbo.Accy, 'Az" :rabbo.Accz, 'Gx' :rabbo.Gyrx, 'Gy ' :rabbo.Gyry, "Gz :rabbo.t
df = df.append{new)
i=i+1
= if rabbo.Cnt> 18:
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174  def SVM():

§ ,Is=wrEEwIl

175

(; 176 import numpy as np .
177 import seaborn as sns /'\-3'—4%’ %i@go’i}&fﬁ'}
178 import matplotlib.pyplot as plt
179 import pandas as pd
180 global Keymax I HF
121
182 df = pd.read_csv("28218227train.csv’)
183 X = df.iloc[:, 1:7] R R E AR
184 Y = df.iloc[:, 7]
185 print (X)
186 print(Y) AI-SVN
187
188 #IWFERERNEEN  IFERFEIFHEENEE  AIFAERAIFEEEEFIEES -
189 from sklearn.model_selection import traln_tESt_Spllt . 4
196 ¥ _train,x test,y train,y test = train_test split(X, Y, test size=8.2) o B8 B 5 A
191
192 from sklearn import swvm
193 sv = svm.SVC() ’ WEATBER
194 sv.fit(x train, y train)
195 #Fprint(sv)
196 #EEEZ DT
197 print({sv.score(X, ¥))
198 print({sv.score(x_train,y train))
199 print(su.scare{x_test, y test)) 24
200 #EAFFTEN  ETFEA
281 dfa = pd.read csv{'28218227test.csv")

282 ¥Xa = dfa.iloc[:, 1:7]
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def analysis(): § rIs==wEEva - o X
import tkinter as tk

import matplotlib.pyplot as plt e
from matplotlib.backends.backend tkagg import NawvigationToolbar2Tk /'\--T—%? %mgrﬁi}&fﬁq
from matplotlib.backend bases import key press handler

from matplotlib.figure import Figure

s Ch

C

oo

s ]

a.plot(dfl,label="Ax")
a.plot(df2,label="Ay")
a.plot{df3,label="4z")

L =

kS

25

25

25

25

26

261

262 import pandas as pd I HF
263 import numpy as np

264 from pandas import DataFrame

265 b R R AR
266 framel = tk.Tk{)

267 framel.title("HEESEEE SF")

268 framel.geometry ("388x488") AI-SVM
269

278 f = Figure(figsize=(5, 4), dpi=18&)

271 a = t.add subplot({121) ; .
272 b = f.add subplot({122) BB E R
273 df=pd.read_csv({ ' '282182237test.csv")

P

275 df1-df.iloc[:,1:2] W R A B R
276 df2=df.iloc[:,2:3]

277 df3=df.iloc[:,3:4]

278 dfa=df.iloc[:,4:5]

279 dfb=df.iloc[:,5:6]

288 dfc=df.iloc[:,6:7]

28 25
28

28

28
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import tkinter as th
fram rabboni impaort *
global Keymax
global result

Homommeemeeee RSB R -
defvideo():

import os, platform

import vic

class Player:
# args: 522 options
def _init_(self, *args):
it args:
instance = vlcInstance(*args)
self. media = instance.media_player_new()
else:

self.media = vlc MediaPlayer()

def set_uri(self, uri):
self.media.set_mrl(ur)

# BRI BENBEEID » ZRIEERE-1
def play(self, path=IMNaone):
it path:
selfset_uri(path)
return self.media.play()
else:
.

eturn self. media.play()

#EZF
def pause(self):
self. media.pause()

#iE[E
def resumelself):
self.media.set_pause(0)

#FIE
def stap(sel):
self. media.stop()

§ wEEEEA

g | = B

§ rI==wEERE
AL B Bk
B F A

R B FHR AR

AT-SWM

N & S

EANTBEAR
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